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[요지]
1)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 1]

Must� societies� 'reproduce'� their� territory?� On�

the� one� hand,� history� is� full� of� territorial�

conflicts;� a� social� system� that� has� its� territory�

removed� is� doomed� to� fail.� What� role� does�

the� territory� play� in� the� metabolic�

reproduction� of� the� social� system's�

population?� Of� key� significance� is� the� fact�

that� territory� offers� the� population� a� legitimate�

physical� 'common� living� space',� that� is,� it�

serves� as� a� 'repository� for� humans� and� their�

infrastructures'� � This� 'repository� function'�

provides� the� opportunity� to� participate� in� the�

consumption� of� the� so-called� 'free� goods',� the�

ecosystem� services� within� the� territory� (for�

example,� clean� air� and� water).� In� most� cases,�

however,� it� means� more� than� this.� The� state�

is� in� some� sense� answerable� to� the� 'common�

good'� and� thus� to� ensuring� conditions�

supporting� the� reproduction� of� its� human�

subjects.� In� any� case,� at� least� within� its�

territory,� it� must� ensure� that� their� metabolic�

reproduction� is� possible.� The� territory� is�

therefore� meaningful� in� containing� natural�

resources� which� economic� processes� can�

appropriate.� It� also� provides� an� outlet� for� the�

depositing� of� waste� products� from� these�

processes,� and� it� is� a� source� of� various�

non-provisioning� ecosystem� services.

①� 국가는� 경제적� 성장보다� 환경� 보호를� 우선시해야�

한다.

②� 영토는� 단순한� 물리적� 공간이� 아니라� 사회적�

재생산에� 필수적인� 역할을� 한다.

③� 영토의� 소유� 여부는� 국가의� 생존과� 무관하다.

④� 현대� 사회에서는� 영토가� 경제적� 가치보다� 정치적�

가치를� 더� 갖는다.

⑤� 국가의� 역할은� 주로� 경제적� 자원의� 분배에�

집중된다.

2)� 다음�글의� 요지로�가장� 적절한�것은?

[Exercise� 2]

There� are� some� situations,� where� physical�

barriers� are� both� sensible� and� necessary� for�

the� protection� of� the� worker.� There� are� classic�

examples� of� this� within� the� prison� service� and�

of� how� arrangements� can� be� made� for� the�

safety� of� visitors.� But� many� reception� areas� for�

public� services� have,� from� time� to� time,�

employed� security� screens� in� the� hope� of�

discouraging� violence� or� abusive� behaviour�

and� for� the� protection� of� staff.� These� have�

not� always� worked,� however,� and� have�

sometimes� given� the� message� that� violent�

behaviour� is� being� expected.� Some� people�

find� such� screens� to� be� so� impersonal� that�

they� provoke� a� suspicious,� even� aggressive,�

response.� They� much� prefer� to� create� an�

open,� warm� and� human� environment� that�

respects� the� individual� and� encourages� them�

in� turn� to� behave� respectfully� towards� the�

worker.� It� is� also� possible� that� screens� can� put�

confidentiality� at� risk� if� people� feel� that� they�

have� to� speak� more� loudly� in� order� to� make�

themselves� heard.� Screens� in� GP� surgeries� are�

good� examples� of� this.

①� 물리적� 장벽은� 항상� 폭력� 방지에� 효과적이다.

②� 보안� 스크린은� 예상치� 못한� 부작용을� 초래할� 수�

있다.

③� 물리적� 장벽은� 직원과� 방문자의� 신뢰� 관계를�

강화한다.

④� 병원과� 공공기관에서는� 보안� 스크린을� 반드시�

설치해야� 한다.

⑤� 보안� 스크린은� 프라이버시� 보호에� 긍정적인�

영향을� 미친다.
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3)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 3]

Decoding� is� a� verbal� activity� that� regards� its�

object� as� a� set� of� signals;� each� signal� carries� a�

specific� meaning� determined� by� a� code.� The�

object� of� decoding� may� be� verbal� or�

nonverbal.� The� nonverbal� object,� however,�

becomes� in� the� process� of� decoding�

analogous� to� verbal� objects,� that� is,� it� is�

viewed� as� a� set� of� signals.� Decoding� an�

enemy's� message� begins� with� the� belief� that�

the� apparently� random� signals� conceal� a�

coherent� meaning.� As� is� the� case� with�

explanation,� decoding� aims� to� unify� disparate�

facts.� While� explanation� includes� the� particular�

covered� by� a� general� law,� decoding� substitutes�

one� element� with� another� in� accordance� with�

a� rule� that� may� be� individual� to� the� particular�

case:� the� enemy's� second� message� may� or�

may� not� be� written� in� the� same� code� as� the�

first.� The� decoder� cannot� rely� on� seemingly�

similar� cases� to� provide� the� right� code� —� the�

apparent� similarity� may� be� misleading.� By�

contrast,� similar� cases� must� be� similarly�

explained,� because� explanations� assume�

general,� coherent� rules� common� to� all� relevant�

cases.

①� 해독� 과정은� 항상� 일정한� 규칙을� 따른다.

②� 해독은� 정보의� 일관성을� 찾는� 과정이며,� 기존�

지식만으로� 해결할� 수� 있다.

③� 해독은� 신호를� 특정� 코드에� 맞춰� 해석하는�

과정이지만,� 항상� 성공하는� 것은� 아니다.

④� 해독� 과정은� 기존의� 사례를� 바탕으로� 유추할� 수�

있다.

⑤� 해독이� 성공하기� 위해서는� 코드의� 규칙이�

고정되어� 있어야� 한다.

4)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 4]

Carbon� dioxide� is� a� powerful� regulator� of�

breathing� (it� acts� on� a� different� set� of�

chemoreceptors,� found� in� the� brain)� and� if� its�

concentration� in� the� blood� falls,� breathing� is�

inhibited.� It� is� possible� to� demonstrate� this� for�

yourself.� You� will� find� you� are� able� to� hold�

your� breath� for� longer� if� you� breathe� very�

rapidly� for� a� short� time� beforehand.� (Do� not�

do� this� for� more� than� a� minute� or� you� may�

become� dizzy.)� The� reason� is� that�

breath-holding� is� terminated� not� by� the�

demand� for� oxygen� but� rather� by� the� rising�

carbon� dioxide� concentration� in� the� blood.�

When� this� reaches� a� critical� level� it� stimulates�

you� to� take� a� breath.� Hyperventilation� before�

holding� your� breath� blows� off� carbon� dioxide�

from� the� body� and� enables� a� longer� period� to�

elapse� before� carbon� dioxide� builds� up� to� a�

level� sufficient� to� stimulate� breathing.� The�

antagonistic� drives� from� oxygen� and� carbon�

dioxide� explain� why� no� change� in� breathing�

occurs� at� altitudes� of� less� than� 3000� metres.

①� 산소� 부족이� 호흡을� 유발하는� 주요� 원인이다.

②� 고도가� 낮은� 곳에서는� 호흡� 조절이� 필요� 없다.

③� 호흡은� 혈액� 내� 이산화탄소� 농도에� 의해�

조절된다.

④� 과호흡은� 호흡을� 방해하는� 부작용을� 초래한다.

⑤� 인간의� 호흡은� 항상� 일정하게� 유지된다.
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5)� 다음�글의�요지로�가장�적절한�것은?

[Exercise� 5-6]

It� is� perhaps� self-evident� that� the� outworking� of�

policy� is� seen� in� the� exercise� of� power� if� it�

compels� individuals� to� behave� in� a� way� which�

they� would� not� have� chosen� to� do.� Policy� can�

be� used� to� highlight� power� relationships,� but� it�

can� also� allow� for� depersonalisation� of� power�

and� decision-making:� a� leader� could� imply� that�

while� they� don't� really� agree� with� a� particular�

course� of� action,� the� policy� dictates� it� and�

therefore� it� must� be� done.� In� the� same� way�

policy� can� act� as� the� source� of� authority� such�

that� hierarchy� is� unnecessary:� a� group� of�

individuals� may� resort� to� policy� to� guide� their�

decision-making� when� there� is� no� established�

authority� figure� to� set� their� direction.� Ultimately�

those� who� define� policy� exert� power� over� those�

who� follow� policy� and,� in� education� at� least,� it�

is� rare� that� policy� is� determined� collectively:� at�

best,� leaders� are� elected� democratically� so� that�

they� may� set� policy� for� the� electorate.� There� is�

therefore� an� inevitable� reliance� on� a� political�

elite,� and� a� consequent� hierarchy� of� power.� A�

frequently� seen� example� of� policy� as� power� in�

schools� is� uniform.� It� is� for� the� 'governing�

board'� of� a� school� to� determine� if� it� has� a�

uniform,� and� if� so� what� it� is,� but� parents� and�

children� have� a� duty� to� comply,� and� school� staff�

have� a� duty� to� enforce� it.� Countless� children�

will� have� discovered� that� they� cannot� appeal� to�

the� logic� that� inadequate� uniform� does� not�

affect� their� learning,� and� nor� can� they� resort� to�

any� individual� to� plead� their� case,� for� the� power�

rests� within� the� policy� itself:� it� is� sufficient� to�

say� that� you� have� to� wear� school� uniform�

because� that� is� what� the� policy� says.

①� 정책은� 개인의� 자유를� 보호하는� 역할을� 한다.

②� 정책은� 권력을� 행사하는� 도구로� 작용할� 수� 있다.

③� 정책은� 모든� 사람이� 동의하는� 방식으로� 결정된다.

④� 학교에서의� 규율은� 논리적� 근거보다� 정책에� 의해�

정해진다.

⑤� 정책은� 특정한� 권력� 계층� 없이� 자율적으로�

운영된다.

6)� 다음� 글의�요지로�가장�적절한�것은?

[Exercise� 7]

Electric� scooters� are� the� latest� vogue� in� urban�

transportation.� They� wait� in� clusters� on� the�

pavement,� ready� for� hire� by� anyone� with� a�

smartphone� and� a� credit� card.� Scooters� are�

faster� than� walking,� easier� than� cycling� and�

nimbler� than� cars.� They� turn� the� cityscape� into�

a� playground.� Riding� them� is� a� carefree�

experience� —� but� it� is� more� controlled� than� it�

might� seem.� Every� journey� is� tracked� from�

start� to� finish.� No� matter� how� hard� the�

throttle� is� pressed,� the� scooters� will� not� go�

above� a� particular� speed.� They� refuse� to� leave�

designated� urban� areas.� And� there� is� no�

haggling� over� the� fare:� an� app� deducts� a�

precise� sum� depending� on� the� length� of� the�

journey.� None� of� this� is� inherently�

objectionable.� But� scooters� do� offer� a� helpful�

example� of� the� paradox� of� digital�

technologies:� they� offer� freedom,� but� only� in�

exchange� for� some� surrender� of� control.� This�

is� not� a� paradox� that� will� ever� be� fully�

resolved.� The� question� will� always� be� whether�

the� balance� between� freedom� and� control� is�

struck� in� the� right� place.

①� 전동� 스쿠터는� 도시에서� 가장� 자유로운� 이동�

수단이다.

②� 디지털� 기술은� 사용자의� 자유를� 보장하는� 동시에�

통제한다.

③� 전동� 스쿠터는� 환경� 보호를� 위한� 필수적인�

대안이다.

④� 전동� 스쿠터의� 가격은� 사용자� 간� 협상을� 통해�

결정된다.

⑤� 디지털� 기술의� 발전은� 인간의� 자유를� 완전히�

보장한다.
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7)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 8]

It� is� possible,� in� principle,� that� language�

suddenly� appeared� fully� formed� during� human�

evolution� without� any� gradual� or� intermediate�

forms.� That� notion,� a� linguistic� Big� Bang,� has�

been� championed� by� linguists� such� as� Noam�

Chomsky.� But� it� is� extremely� improbable,�

biologically� speaking,� that� such� a� complex�

characteristic� as� our� capacity� for� speech� just�

popped� up� out� of� nowhere.� It� is� more� likely�

that� language� evolved� in� several� stages� in� the�

same� way,� for� instance,� as� our� large� brains�

did� or� our� tool-making� ability.� This� may� have�

been� a� process� similar� to� the� one� children� go�

through,� or� the� process� may� have� been�

entirely� different� and� involved� intermediate�

forms.� But� some� form� of� evolution� must� have�

occurred� on� the� journey� from� non-speaking�

ape� to� speaking� humans.� At� some� point� there�

must� have� been� linguistic� precursors,� simpler�

forms� of� language.� There� must� also� have�

been� a� protolanguage,� the� first� one� that�

could� be� called� a� language.

①� 언어는� 한� 순간에� 완전한� 형태로� 등장했다.

②� 인간의� 언어는� 진화� 과정을� 거쳐� 형성되었다.

③� 언어는� 다른� 인지� 능력과� 무관하게� 형성되었다.

④� 언어의� 기원은� 명확하게� 밝혀졌다.

⑤� 언어는� 인간의� 본능적인� 능력이다.

8)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 9]

In� prior� ages� to� the� Digital� Age,� the� power� to�

create� information� remained� primarily� in� the�

hands� of� designated� authorities,� be� they� the�

King� or� the� New� York� Times.� Today� however,�

advances� in� information� technology� —�

specifically,� computers� and� telecommunicators�

—� have� resulted� in� a� situation� where�

information� can� be� created� by� anyone� and�

can� flow� from� anyone� to� everyone� else.� Take�

for� example� these� astounding� statistics:� at� the�

time� of� writing� this� paper,� the� number� of�

websites� currently� online� is� over� 1.5� billion,�

the� number� of� active� Facebook� users� is� over�

two� billion,� and� the� number� of� Internet� users�

is� over� four� billion.� � More� specific� to�

consumer-created� content,� 400� hours� of�

videos� are� uploaded� to� YouTube� every� minute�

and� searches� of� "how� to"� videos� on� YouTube�

are� growing� 70%� year� over� year.� These�

numbers� will� likely� increase� by� the� time� this�

manuscript� goes� to� print.� People� today� are�

not� simply� passive� consumers� of� information,�

but� also� providers� of� information� through�

their� own� content� creation,� which� is� "the�

material� people� contribute� to� the� online�

world"� � Today,� the� production� and� distribution�

of� information� is� a� market� in� which� nearly�

everyone� can,� and� does,� participate.

①� 정보� 생산과� 유통은� 소수의� 기관에� 의해�

독점된다.

②� 디지털� 시대에는� 누구나� 정보� 생산과� 유통에�

참여할� 수� 있다.

③� 인터넷� 사용자� 수는� 일정� 수준에서� 멈출� 것이다.

④� 소비자는� 정보를� 생산할� 능력이� 없다.

⑤� 디지털� 기술의� 발전은� 정보의� 질을� 항상�

향상시킨다.
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9)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 10]

Scientific� research� is� typically� based� on� a� cycle�

involving� several� distinct� stages.� The� cycle�

typically� starts� with� a� collection� of� incidental�

observations� and� the� formulation� of� a� possible�

explanation� for� these� observations.� This�

explanation� is� known� as� a� theory.� Based� on�

this� theory,� we� can� then� make� predictions�

about� conditions� that� we� have� not� yet�

observed.� In� other� words,� we� can� formulate�

specific� hypotheses.� Now,� we� can� design� an�

experiment� that� aims� to� disprove� our� theory:�

when� the� results� of� our� experiment� are�

consistent� with� the� theory,� we� have� no� reason�

to� suspect� that� anything� is� wrong� with� it.�

When� the� results� are� inconsistent,� however,�

we� will� either� have� to� adjust� our� theory,� or� to�

reject� it� altogether.� It� is� impossible� to� "prove"�

a� theory:� as� long� as� we� find� no� conflicting�

evidence,� the� theory� remains� plausible.� This�

does� not� exclude� the� possibility,� however,� that�

there� might� be� future� results� that� will� conflict.�

Although� a� theory� becomes� more� plausible�

the� more� results� we� find� that� are� consistent�

with� it,� it� remains� the� case� that� (at� least� in�

principle)� a� single� experiment� yielding�

conflicting� results� would� be� sufficient� to�

overthrow� it.

①� 과학적� 이론은� 절대적으로� 증명될� 수� 있다.

②� 실험� 결과가� 이론과� 일치하면� 이론은� 영구적으로�

유지된다.

③� 과학적� 이론은� 새로운� 증거가� 나오면� 수정될� 수�

있다.

④� 실험을� 통해� 모든� 과학� 이론이� 증명될� 수� 있다.

⑤� 과학적� 방법은� 가설을� 무조건적으로� 검증하는� 데�

사용된다.

10)� 다음�글의� 요지로�가장� 적절한�것은?

[Exercise� 11-12]

One� of� the� truths� about� writing� in� science� is�

that� it� substantially� limits� the� amount� of�

insincere� blather� that� can� emanate� from� the�

mind� of� a� student� when� he/she� has� absolutely�

no� idea� about� a� correct� response.� A� student�

who� does� not� have� a� basic� understanding� of�

scientific� theories� will� have� immense� difficulty�

in� applying� them.� In� responding� to� an�

authentic� scientific� problem� through� an� essay,�

there� is� no� way� to� "luck� out"� on� a� guess� at�

the� correct� answer;� there� is� no� place� to� hide.�

In� general,� essays� that� require� students� to�

invoke� pertinent� scientific� principles� and�

theories� and� to� explore� potential� applications�

are� more� genuine� assessments� of� student�

knowledge� than� objective� tests� of� short�

queries� paired� with� possible� answers� already�

furnished.� Another� advantage� of� writing� essays�

is� that� the� teacher� can� get� a� sense� of� where�

student� comprehension� is� strong� and� where�

understanding� begins� to� break� down.� After�

all,� writing� is� a� form� of� concretized� thought.�

Thus,� when� a� student's� grasp� of� a� concept�

begins� to� get� off-track,� it� is� only� through�

those� moments� when� thought� is� made� visible�

that� a� teacher� is� able� to� identify� the� problem�

and� provide� help.� Writing� provides� the�

opportunity� for� the� kind� of� intervention� that�

can� prevent� conceptual� misunderstandings� that�

can� haunt� a� student� for� his� entire� academic�

career.� Indeed,� Heddy� &� Sinatra� (2013)� and�

Francek� (2013)� have� found� that� one� of� the�

most� difficult� areas� of� teaching� is� trying� to�

get� students� to� un-learn� a� misconception.

①� 과학적� 글쓰기는� 학생들이� 창의적인� 답변을�

내놓을� 기회를� 제한한다.

②� 과학적� 글쓰기는� 학생들의� 개별적인� 사고� 과정을�

평가하는� 데� 적절하다.

③� 객관식� 평가가� 주관식� 평가보다� 학생의� 개념�

이해도를� 더� 정확히� 측정한다.

④� 학생들은� 과학적� 개념을� 직관적으로� 이해하기�

때문에� 글쓰기� 과정이� 불필요하다.

⑤� 잘못된� 개념을� 배우는� 것은� 과학적� 사고� 능력을�

향상시키는� 데� 유용하다.
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[주제]
11)� 다음�글의�주제로�가장�적절한�것은?�

[Exercise� 1]

Must� societies� 'reproduce'� their� territory?� On�

the� one� hand,� history� is� full� of� territorial�

conflicts;� a� social� system� that� has� its� territory�

removed� is� doomed� to� fail.� What� role� does� the�

territory� play� in� the� metabolic� reproduction� of�

the� social� system's� population?� Of� key�

significance� is� the� fact� that� territory� offers� the�

population� a� legitimate� physical� 'common� living�

space',� that� is,� it� serves� as� a� 'repository� for�

humans� and� their� infrastructures'� � This�

'repository� function'� provides� the� opportunity� to�

participate� in� the� consumption� of� the� so-called�

'free� goods',� the� ecosystem� services� within� the�

territory� (for� example,� clean� air� and� water).� In�

most� cases,� however,� it� means� more� than� this.�

The� state� is� in� some� sense� answerable� to� the�

'common� good'� and� thus� to� ensuring�

conditions� supporting� the� reproduction� of� its�

human� subjects.� In� any� case,� at� least� within� its�

territory,� it� must� ensure� that� their� metabolic�

reproduction� is� possible.� The� territory� is�

therefore� meaningful� in� containing� natural�

resources� which� economic� processes� can�

appropriate.� It� also� provides� an� outlet� for� the�

depositing� of� waste� products� from� these�

processes,� and� it� is� a� source� of� various�

non-provisioning� ecosystem� services.

①� The� impact� of� ecosystem� services� on�

economic� stability

②� The� necessity� of� territorial� control� for�

societal� survival

③� The� political� conflicts� arising� from� land�

disputes

④� The� historical� evolution� of� territorial�

governance

⑤� The� environmental� consequences� of�

industrial� expansion

12)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 2]

There� are� some� situations,� where� physical�

barriers� are� both� sensible� and� necessary� for�

the� protection� of� the� worker.� There� are� classic�

examples� of� this� within� the� prison� service� and�

of� how� arrangements� can� be� made� for� the�

safety� of� visitors.� But� many� reception� areas� for�

public� services� have,� from� time� to� time,�

employed� security� screens� in� the� hope� of�

discouraging� violence� or� abusive� behaviour�

and� for� the� protection� of� staff.� These� have�

not� always� worked,� however,� and� have�

sometimes� given� the� message� that� violent�

behaviour� is� being� expected.� Some� people�

find� such� screens� to� be� so� impersonal� that�

they� provoke� a� suspicious,� even� aggressive,�

response.� They� much� prefer� to� create� an�

open,� warm� and� human� environment� that�

respects� the� individual� and� encourages� them�

in� turn� to� behave� respectfully� towards� the�

worker.� It� is� also� possible� that� screens� can� put�

confidentiality� at� risk� if� people� feel� that� they�

have� to� speak� more� loudly� in� order� to� make�

themselves� heard.� Screens� in� GP� surgeries� are�

good� examples� of� this.

①� The� challenges� of� balancing� security� and�

human� interaction

②� The� legal� implications� of� privacy� violations�

in� security� systems

③� The� necessity� of� advanced� monitoring�

systems� in� workplaces

④� The� role� of� government� policies� in�

regulating� public� safety� measures

⑤� The� effects� of� digital� surveillance� on� human�

rights
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13)� 다음�글의� 주제로�가장� 적절한�것은?�

[Exercise� 3]

Decoding� is� a� verbal� activity� that� regards� its�

object� as� a� set� of� signals;� each� signal� carries� a�

specific� meaning� determined� by� a� code.� The�

object� of� decoding� may� be� verbal� or�

nonverbal.� The� nonverbal� object,� however,�

becomes� in� the� process� of� decoding�

analogous� to� verbal� objects,� that� is,� it� is�

viewed� as� a� set� of� signals.� Decoding� an�

enemy's� message� begins� with� the� belief� that�

the� apparently� random� signals� conceal� a�

coherent� meaning.� As� is� the� case� with�

explanation,� decoding� aims� to� unify� disparate�

facts.� While� explanation� includes� the� particular�

covered� by� a� general� law,� decoding� substitutes�

one� element� with� another� in� accordance� with�

a� rule� that� may� be� individual� to� the� particular�

case:� the� enemy's� second� message� may� or�

may� not� be� written� in� the� same� code� as� the�

first.� The� decoder� cannot� rely� on� seemingly�

similar� cases� to� provide� the� right� code� —� the�

apparent� similarity� may� be� misleading.� By�

contrast,� similar� cases� must� be� similarly�

explained,� because� explanations� assume�

general,� coherent� rules� common� to� all� relevant�

cases.

①� The� difference� between� decoding� and�

explaining� information

②� The� importance� of� cryptographic� security� in�

modern� technology

③� The� role� of� artificial� intelligence� in�

information� processing

④� The� historical� significance� of� encryption� in�

warfare

⑤� The� evolution� of� linguistic� analysis� in�

intelligence� gathering

14)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 4]

Carbon� dioxide� is� a� powerful� regulator� of�

breathing� (it� acts� on� a� different� set� of�

chemoreceptors,� found� in� the� brain)� and� if� its�

concentration� in� the� blood� falls,� breathing� is�

inhibited.� It� is� possible� to� demonstrate� this� for�

yourself.� You� will� find� you� are� able� to� hold�

your� breath� for� longer� if� you� breathe� very�

rapidly� for� a� short� time� beforehand.� (Do� not�

do� this� for� more� than� a� minute� or� you� may�

become� dizzy.)� The� reason� is� that�

breath-holding� is� terminated� not� by� the�

demand� for� oxygen� but� rather� by� the� rising�

carbon� dioxide� concentration� in� the� blood.�

When� this� reaches� a� critical� level� it� stimulates�

you� to� take� a� breath.� Hyperventilation� before�

holding� your� breath� blows� off� carbon� dioxide�

from� the� body� and� enables� a� longer� period� to�

elapse� before� carbon� dioxide� builds� up� to� a�

level� sufficient� to� stimulate� breathing.� The�

antagonistic� drives� from� oxygen� and� carbon�

dioxide� explain� why� no� change� in� breathing�

occurs� at� altitudes� of� less� than� 3000� metres.

①� The� function� of� brain� receptors� in�

regulating� oxygen� intake

②� The� physiological� effects� of� hyperventilation�

on� lung� capacity

③� The� influence� of� carbon� dioxide� levels� on�

respiratory� control

④� The� long-term� impact� of� altitude� changes�

on� human� respiration

⑤� The� role� of� blood� circulation� in� maintaining�

oxygen� balance
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15)� 다음� 글의�주제로�가장�적절한�것은?�
[Exercise� 5-6]

It� is� perhaps� self-evident� that� the� outworking�

of� policy� is� seen� in� the� exercise� of� power� if� it�

compels� individuals� to� behave� in� a� way� which�

they� would� not� have� chosen� to� do.� Policy� can�

be� used� to� highlight� power� relationships,� but�

it� can� also� allow� for� depersonalisation� of�

power� and� decision-making:� a� leader� could�

imply� that� while� they� don't� really� agree� with� a�

particular� course� of� action,� the� policy� dictates�

it� and� therefore� it� must� be� done.� In� the� same�

way� policy� can� act� as� the� source� of� authority�

such� that� hierarchy� is� unnecessary:� a� group� of�

individuals� may� resort� to� policy� to� guide� their�

decision-making� when� there� is� no� established�

authority� figure� to� set� their� direction.�

Ultimately� those� who� define� policy� exert�

power� over� those� who� follow� policy� and,� in�

education� at� least,� it� is� rare� that� policy� is�

determined� collectively:� at� best,� leaders� are�

elected� democratically� so� that� they� may� set�

policy� for� the� electorate.� There� is� therefore� an�

inevitable� reliance� on� a� political� elite,� and� a�

consequent� hierarchy� of� power.� A� frequently�

seen� example� of� policy� as� power� in� schools� is�

uniform.� It� is� for� the� 'governing� board'� of� a�

school� to� determine� if� it� has� a� uniform,� and� if�

so� what� it� is,� but� parents� and� children� have� a�

duty� to� comply,� and� school� staff� have� a� duty�

to� enforce� it.� Countless� children� will� have�

discovered� that� they� cannot� appeal� to� the�

logic� that� inadequate� uniform� does� not� affect�

their� learning,� and� nor� can� they� resort� to� any�

individual� to� plead� their� case,� for� the� power�

rests� within� the� policy� itself:� it� is� sufficient� to�

say� that� you� have� to� wear� school� uniform�

because� that� is� what� the� policy� says.

①� The� ethical� dilemmas� of� enforcing� school�

dress� codes

②� The� impact� of� democratic� participation� in�

policy� formation

③� The� role� of� policy� in� maintaining� and�

exercising� power

④� The� influence� of� social� norms� on�

governance� decisions

⑤� The� challenges� of� enforcing� policies� in�

educational� institutions

16)� 다음�글의� 주제로�가장� 적절한�것은?�

[Exercise� 7]

Electric� scooters� are� the� latest� vogue� in� urban�

transportation.� They� wait� in� clusters� on� the�

pavement,� ready� for� hire� by� anyone� with� a�

smartphone� and� a� credit� card.� Scooters� are�

faster� than� walking,� easier� than� cycling� and�

nimbler� than� cars.� They� turn� the� cityscape� into�

a� playground.� Riding� them� is� a� carefree�

experience� —� but� it� is� more� controlled� than� it�

might� seem.� Every� journey� is� tracked� from�

start� to� finish.� No� matter� how� hard� the�

throttle� is� pressed,� the� scooters� will� not� go�

above� a� particular� speed.� They� refuse� to� leave�

designated� urban� areas.� And� there� is� no�

haggling� over� the� fare:� an� app� deducts� a�

precise� sum� depending� on� the� length� of� the�

journey.� None� of� this� is� inherently�

objectionable.� But� scooters� do� offer� a� helpful�

example� of� the� paradox� of� digital�

technologies:� they� offer� freedom,� but� only� in�

exchange� for� some� surrender� of� control.� This�

is� not� a� paradox� that� will� ever� be� fully�

resolved.� The� question� will� always� be� whether�

the� balance� between� freedom� and� control� is�

struck� in� the� right� place.

①� The� role� of� mobile� applications� in� urban�

transportation

②� The� technological� advancements� in� digital�

mobility� solutions

③� The� trade-offs� between� freedom� and�

control� in� digital� transport

④� The� environmental� benefits� of� electric�

scooters� and� ride-sharing

⑤� The� regulatory� challenges� of� integrating�

micro-mobility� into� cities
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17)� 다음�글의� 주제로�가장� 적절한�것은?�

[Exercise� 8]

It� is� possible,� in� principle,� that� language�

suddenly� appeared� fully� formed� during� human�

evolution� without� any� gradual� or� intermediate�

forms.� That� notion,� a� linguistic� Big� Bang,� has�

been� championed� by� linguists� such� as� Noam�

Chomsky.� But� it� is� extremely� improbable,�

biologically� speaking,� that� such� a� complex�

characteristic� as� our� capacity� for� speech� just�

popped� up� out� of� nowhere.� It� is� more� likely�

that� language� evolved� in� several� stages� in� the�

same� way,� for� instance,� as� our� large� brains�

did� or� our� tool-making� ability.� This� may� have�

been� a� process� similar� to� the� one� children� go�

through,� or� the� process� may� have� been�

entirely� different� and� involved� intermediate�

forms.� But� some� form� of� evolution� must� have�

occurred� on� the� journey� from� non-speaking�

ape� to� speaking� humans.� At� some� point� there�

must� have� been� linguistic� precursors,� simpler�

forms� of� language.� There� must� also� have�

been� a� protolanguage,� the� first� one� that�

could� be� called� a� language.

①� The� connection� between� human� cognition�

and� linguistic� complexity

②� The� role� of� social� interaction� in� language�

acquisition

③� The� gradual� evolution� of� language� over�

time

④� The� similarities� between� child� language�

development� and� evolution

⑤� The� differences� between� human� language�

and� animal� communication

18)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 9]

In� prior� ages� to� the� Digital� Age,� the� power� to�

create� information� remained� primarily� in� the�

hands� of� designated� authorities,� be� they� the�

King� or� the� New� York� Times.� Today� however,�

advances� in� information� technology� —�

specifically,� computers� and� telecommunicators�

—� have� resulted� in� a� situation� where�

information� can� be� created� by� anyone� and�

can� flow� from� anyone� to� everyone� else.� Take�

for� example� these� astounding� statistics:� at� the�

time� of� writing� this� paper,� the� number� of�

websites� currently� online� is� over� 1.5� billion,�

the� number� of� active� Facebook� users� is� over�

two� billion,� and� the� number� of� Internet� users�

is� over� four� billion.� � More� specific� to�

consumer-created� content,� 400� hours� of�

videos� are� uploaded� to� YouTube� every� minute�

and� searches� of� "how� to"� videos� on� YouTube�

are� growing� 70%� year� over� year.� These�

numbers� will� likely� increase� by� the� time� this�

manuscript� goes� to� print.� People� today� are�

not� simply� passive� consumers� of� information,�

but� also� providers� of� information� through�

their� own� content� creation,� which� is� "the�

material� people� contribute� to� the� online�

world"� � Today,� the� production� and� distribution�

of� information� is� a� market� in� which� nearly�

everyone� can,� and� does,� participate.

①� The� historical� development� of� mass�

communication

②� The� challenges� of� managing� digital�

misinformation

③� The� shift� from� centralized� to� decentralized�

information� flow

④� The� economic� impact� of� digital� content�

creation

⑤� The� ethical� concerns� regarding� online�

information� sharing
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19)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 10]

Scientific� research� is� typically� based� on� a� cycle�

involving� several� distinct� stages.� The� cycle�

typically� starts� with� a� collection� of� incidental�

observations� and� the� formulation� of� a� possible�

explanation� for� these� observations.� This�

explanation� is� known� as� a� theory.� Based� on�

this� theory,� we� can� then� make� predictions�

about� conditions� that� we� have� not� yet�

observed.� In� other� words,� we� can� formulate�

specific� hypotheses.� Now,� we� can� design� an�

experiment� that� aims� to� disprove� our� theory:�

when� the� results� of� our� experiment� are�

consistent� with� the� theory,� we� have� no� reason�

to� suspect� that� anything� is� wrong� with� it.�

When� the� results� are� inconsistent,� however,�

we� will� either� have� to� adjust� our� theory,� or� to�

reject� it� altogether.� It� is� impossible� to� "prove"�

a� theory:� as� long� as� we� find� no� conflicting�

evidence,� the� theory� remains� plausible.� This�

does� not� exclude� the� possibility,� however,� that�

there� might� be� future� results� that� will� conflict.�

Although� a� theory� becomes� more� plausible�

the� more� results� we� find� that� are� consistent�

with� it,� it� remains� the� case� that� (at� least� in�

principle)� a� single� experiment� yielding�

conflicting� results� would� be� sufficient� to�

overthrow� it.

①� The� importance� of� empirical� validation� in�

scientific� theories

②� The� distinction� between� hypotheses� and�

scientific� laws

③� The� process� of� testing� and� refining�

scientific� theories

④� The� historical� development� of� the� scientific�

method

⑤� The� philosophical� debates� surrounding�

scientific� realism

20)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 11-12]

One� of� the� truths� about� writing� in� science� is�

that� it� substantially� limits� the� amount� of�

insincere� blather� that� can� emanate� from� the�

mind� of� a� student� when� he/she� has� absolutely�

no� idea� about� a� correct� response.� A� student�

who� does� not� have� a� basic� understanding� of�

scientific� theories� will� have� immense� difficulty�

in� applying� them.� In� responding� to� an�

authentic� scientific� problem� through� an� essay,�

there� is� no� way� to� "luck� out"� on� a� guess� at� the�

correct� answer;� there� is� no� place� to� hide.� In�

general,� essays� that� require� students� to� invoke�

pertinent� scientific� principles� and� theories� and� to�

explore� potential� applications� are� more� genuine�

assessments� of� student� knowledge� than� objective�

tests� of� short� queries� paired� with� possible�

answers� already� furnished.� Another� advantage� of�

writing� essays� is� that� the� teacher� can� get� a� sense�

of� where� student� comprehension� is� strong� and�

where� understanding� begins� to� break� down.�

After� all,� writing� is� a� form� of� concretized�

thought.� Thus,� when� a� student's� grasp� of� a�

concept� begins� to� get� off-track,� it� is� only�

through� those� moments� when� thought� is� made�

visible� that� a� teacher� is� able� to� identify� the�

problem� and� provide� help.� Writing� provides� the�

opportunity� for� the� kind� of� intervention� that� can�

prevent� conceptual� misunderstandings� that� can�

haunt� a� student� for� his� entire� academic� career.�

Indeed,� Heddy� &� Sinatra� (2013)� and� Francek�

(2013)� have� found� that� one� of� the� most� difficult�

areas� of� teaching� is� trying� to� get� students� to�

un-learn� a� misconception.

①� The� role� of� writing� in� enhancing� scientific�

comprehension

②� The� advantages� of� multiple-choice� tests� over�

written� assessments

③� The� impact� of� scientific� literacy� on� academic�

performance

④� The� historical� development� of� scientific�

communication

⑤� The� challenges� of� evaluating� scientific� essays�

objectively
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정답�및�해설

1)� 정답� 분석

②� 영토는� 단순한� 물리적� 공간이� 아니라� 사회적� 재생산에�

필수적인� 역할을� 한다.

� 근거:� "The� territory� is� therefore� meaningful� in�

containing� natural� resources� which� economic�

processes� can� appropriate."

오답� 분석

①� 경제적� 과정과� 영토의� 역할이� 강조되었으며� 환경� 보호

가� 중심이� 아님.

③� 영토를� 잃으면� 사회� 시스템이� 유지될� 수� 없음.

④� 경제적� 가치와� 자원의� 중요성이� 강조됨.

⑤� 경제적� 자원의� 분배� 외에도� 여러� 기능이� 있음.

2)� 정답� 분석

②� 보안� 스크린은� 예상치� 못한� 부작용을� 초래할� 수� 있다.

� 근거:� "Screens� have� not� always� worked,� and� have�

sometimes� given� the� message� that� violent�

behaviour� is� being� expected."

오답� 분석

①� 항상� 효과적이지� 않음.

③� 오히려� 불신을� 초래할� 수� 있음.

④� 반드시� 설치해야� 한다는� 내용� 없음.

⑤� 오히려� 프라이버시� 보호를� 방해할� 수� 있음.

�
3)� 정답� 분석

③� 해독은� 신호를� 특정� 코드에� 맞춰� 해석하는� 과정이지만,�

항상� 성공하는� 것은� 아니다.

� 근거:� "The� decoder� cannot� rely� on� seemingly�

similar� cases� to� provide� the� right� code� —� the�

apparent� similarity� may� be� misleading."

오답� 분석

①� 해독� 과정은� 항상� 일정하지� 않음.

②� 기존� 지식만으로� 해결할� 수� 없음.

④� 기존� 사례를� 통해� 유추할� 수� 없음.

⑤� 코드의� 규칙이� 항상� 고정되어� 있는� 것은� 아님.

4)� 정답� 분석

③� 호흡은� 혈액� 내� 이산화탄소� 농도에� 의해� 조절된다.

� 근거:� "Breath-holding� is� terminated� not� by� the�

demand� for� oxygen� but� rather� by� the� rising�

carbon� dioxide� concentration� in� the� blood."

오답� 분석

①� 산소보다� 이산화탄소가� 주요� 요인임.

②� 고도와� 관계없이� 호흡� 조절이� 필요할� 수� 있음.

④� 과호흡이� 방해� 요소라는� 언급� 없음.

⑤� 호흡은� 일정하지� 않음.

5)� 정답� 분석

②� 정책은� 권력을� 행사하는� 도구로� 작용할� 수� 있다.

� 근거:� "Ultimately� those� who� define� policy� exert�

power� over� those� who� follow� policy."

오답� 분석

①� 정책이� 자유를� 보호하는� 것이� 아니라� 권력을� 행사하는�

역할을� 함.

③� 모든� 사람이� 동의하는� 방식으로� 결정되지� 않음.

④� 학교� 규율과� 관련된� 내용이� 주된� 논점이� 아님.

⑤� 정책은� 특정한� 권력� 계층에� 의해� 운영됨.

6)� 정답� 분석

②� 디지털� 기술은� 사용자의� 자유를� 보장하는� 동시에� 통제

한다.

� 근거:� "They� offer� freedom,� but� only� in� exchange�

for� some� surrender� of� control."

오답� 분석

①� 통제된� 자유가� 강조됨.

③� 환경� 보호에� 대한� 언급� 없음.

④� 가격은� 협상이� 아닌� 자동� 결제� 시스템에� 의해� 결정됨.

⑤� 인간의� 자유를� 완전히� 보장하는� 것이� 아님.

7)� 정답� 분석

②� 인간의� 언어는� 진화� 과정을� 거쳐� 형성되었다.

� 근거:� "Some� form� of� evolution� must� have� occurred�

on� the� journey� from� non-speaking� ape� to�

speaking� humans."

오답� 분석

①� 갑자기� 등장하지� 않음.

③� 다른� 인지� 능력과� 함께� 진화함.

④� 기원이� 명확하게� 밝혀지지� 않음.

⑤� 본능적인� 능력보다는� 진화의� 결과임.

8)� 정답� 분석

②� 디지털� 시대에는� 누구나� 정보� 생산과� 유통에� 참여할�

수� 있다.

� 근거:� "People� today� are� not� simply� passive�

consumers� of� information,� but� also� providers� of�

information� through� their� own� content� creation."

오답� 분석

①� 정보� 생산이� 개방적으로� 이루어짐.

③� 사용자� 수는� 계속� 증가하고� 있음.

④� 소비자도� 정보� 생산자가� 될� 수� 있음.

⑤� 정보의� 질이� 항상� 향상되는� 것은� 아님.

9)� 정답� 분석

③� 과학적� 이론은� 새로운� 증거가� 나오면� 수정될� 수� 있다.

� 근거:� "When� the� results� are� inconsistent,� however,�

we� will� either� have� to� adjust� our� theory,� or� to�

reject� it� altogether."

오답� 분석

①� 이론은� 절대적으로� 증명될� 수� 없음.

②� 새로운� 증거가� 나오면� 수정됨.

④� 실험을� 통해� 모든� 이론이� 증명되는� 것은� 아님.

⑤� 가설을� 검증하는� 것보다� 반증하는� 과정이� 중요함.

10)� 정답� 분석

②� 과학적� 글쓰기는� 학생들의� 개별적인� 사고� 과정을� 평가

하는� 데� 적절하다.
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� 근거:� "Essays� that� require� students� to� invoke�

pertinent� scientific� principles� and� theories� and� to�

explore� potential� applications� are� more� genuine�

assessments� of� student� knowledge� than� objective�

tests."

오답� 분석

①� 글쓰기는� 창의성� 제한이� 아니라� 사고� 과정을� 평가하는�

도구임.

③� 객관식� 평가보다� 주관식� 평가가� 개념� 이해도� 측정에�

더� 효과적임.

④� 학생들이� 직관적으로� 개념을� 이해하는� 것이� 아니라� 명

확한� 평가가� 필요함.

⑤� 잘못된� 개념은� 학습에� 방해가� 되며� 수정이� 어려움.

11)� � 정답:� ②� The� necessity� of� territorial� control� for�

societal� survival

� 정답� 분석

근거� 문장:

"A� social� system� that� has� its� territory� removed� is�

doomed� to� fail."

� 설명:

지문은� 사회� 시스템이� 영토를� 유지해야� 생존할� 수� 있으며,�

영토가� 자원과� 생태계� 서비스를� 제공하는� 필수적� 요소

임을� 설명하고� 있다.

� 오답� 분석

①� 생태계� 서비스가� 경제에� 미치는� 영향은� 언급되지� 않는

다.

③� 정치적� 분쟁보다는� 영토가� 사회에� 미치는� 영향을� 설명

하고� 있다.

④� 역사적� 진화가� 아니라� 영토� 유지의� 필수성이� 강조된다.

⑤� 환경적� 결과가� 아니라� 사회적� 재생산과� 연결된다.

�
12)� � 정답:� ①� The� challenges� of� balancing� security�

and� human� interaction

� 정답� 분석

근거� 문장:

"They� much� prefer� to� create� an� open,� warm� and�

human� environment� that� respects� the� individual�

and� encourages� them� in� turn� to� behave�

respectfully� towards� the� worker."

� 설명:

글은� 보안� 강화와� 인간적� 상호작용을� 어떻게� 조화시킬� 것

인지에� 대한� 논의를� 중심으로� 하고� 있다.

� 오답� 분석

②� 개인정보� 보호법과� 관련된� 내용은� 언급되지� 않는다.

③� 직장� 내� 감시� 시스템이� 아닌,� 공공� 서비스에서의� 보안

이� 주제이다.

④� 정부� 정책보다는� 보안� 조치의� 심리적� 영향이� 중심이다.

⑤� 디지털� 감시보다는� 물리적� 보안� 장치의� 영향이� 다루어

진다.

13)� � 정답:� ①� The� difference� between� decoding� and�

explaining� information

� 정답� 분석

근거� 문장:

"Decoding� substitutes� one� element� with� another� in�

accordance� with� a� rule� that� may� be� individual� to�

the� particular� case..."

� 설명:

글은� 해독(decoding)이� 설명(explanation)과� 어떻게� 다른

지를� 구체적으로� 비교하고� 있다.

� 오답� 분석

②� 암호� 보안의� 중요성이� 아니라� 해독과� 설명의� 차이가�

논의된다.

③� 인공지능과� 정보� 처리� 기술은� 다루지� 않는다.

④� 전쟁에서의� 암호화� 역할이� 주제가� 아니다.

⑤� 정보� 수집의� 언어� 분석보다는� 해독� 자체에� 대한� 논의

이다.

14)� � 정답:� ③� The� influence� of� carbon� dioxide� levels�

on� respiratory� control

� 정답� 분석

근거� 문장:

"Carbon� dioxide� is� a� powerful� regulator� of�

breathing...� When� this� reaches� a� critical� level� it�

stimulates� you� to� take� a� breath."

� 설명:

글의� 핵심� 내용은� 이산화탄소가� 호흡을� 조절하는� 주요� 요

인임을� 설명하는� 것이다.

� 오답� 분석

①� 산소� 섭취를� 조절하는� 뇌� 수용체에� 대한� 내용은� 나오

지� 않는다.

②� 과호흡이� 주요� 주제가� 아니다.

④� 고도� 변화보다는� 이산화탄소의� 조절� 기능이� 강조된다.

⑤� 혈액� 순환의� 역할이� 아니라� 호흡� 조절� 기전이� 중심이

다.

15)� � 정답:� ③� The� role� of� policy� in� maintaining� and�

exercising� power

� 정답� 분석

근거� 문장:

"Ultimately� those� who� define� policy� exert� power�

over� those� who� follow� policy..."

� 설명:

지문은� 정책이� 권력을� 행사하는� 도구로� 작용하며,� 정책을�

설정하는� 사람들이� 정책을� 따르는� 사람들에� 대해� 권력

을� 갖게� 됨을� 설명하고� 있다.

� 오답� 분석

①� 윤리적� 딜레마보다는� 정책이� 구조적으로� 작동하는� 방

식이� 초점이다.

②� 민주적� 참여가� 아니라� 정책이� 권력을� 행사하는� 방식이�

핵심이다.

④� 사회적� 규범보다는� 정책이� 조직� 내에서� 작동하는� 방식

이� 다뤄진다.

⑤� 정책� 시행의� 어려움이� 아니라� 정책이� 권력� 관계를� 형

성하는� 방식이� 설명된다.

16)� � 정답:� ③� The� trade-offs� between� freedom� and�

control� in� digital� transport

� 정답� 분석

근거� 문장:
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"This� is� not� a� paradox� that� will� ever� be� fully�

resolved.� The� question� will� always� be� whether�

the� balance� between� freedom� and� control� is�

struck� in� the� right� place."

� 설명:

지문은� 디지털� 이동� 수단이� 편리함을� 제공하지만� 동시에�

개인의� 통제를� 제한하는� 문제를� 설명하고� 있다.

� 오답� 분석

①� 모바일� 애플리케이션보다는� 자유와� 통제의� 균형이� 중

심이다.

②� 기술적� 발전보다는� 디지털� 교통� 수단이� 가져오는� 제약

과� 이점의� 균형이� 초점이다.

④� 환경적� 이점이� 아니라� 디지털� 교통� 수단이� 가져오는�

자유와� 통제의� 문제를� 설명한다.

⑤� 규제� 문제보다는� 기술적� 제약과� 개인의� 자유� 사이의�

균형이� 논의된다.

17)� � 정답:� ③� The� gradual� evolution� of� language�

over� time

� 정답� 분석

근거� 문장:

"But� it� is� extremely� improbable,� biologically�

speaking,� that� such� a� complex� characteristic� as�

our� capacity� for� speech� just� popped� up� out� of�

nowhere.� It� is� more� likely� that� language� evolved�

in� several� stages..."

� 설명:

지문은� 언어가� 갑자기� 생겨난� 것이� 아니라� 여러� 단계를�

거쳐� 점진적으로� 발달했다고� 설명한다.

� 오답� 분석

①� 인지� 능력과� 언어의� 관계보다� 언어의� 점진적� 진화가�

초점이다.

②� 사회적� 상호작용보다는� 언어가� 여러� 단계를� 거쳐� 진화

한� 과정이� 설명된다.

④� 어린이의� 언어� 발달과� 유사한지� 여부는� 주된� 논점이�

아니다.

⑤� 인간� 언어와� 동물� 의사소통의� 차이보다는� 언어의� 점진

적� 발전이� 핵심이다.

18)� � 정답:� ③� The� shift� from� centralized� to�

decentralized� information� flow

� 정답� 분석

근거� 문장:

"Today� however,� advances� in� information�

technology...� have� resulted� in� a� situation� where�

information� can� be� created� by� anyone� and� can�

flow� from� anyone� to� everyone� else."

� 설명:

지문은� 과거� 권위� 기관이� 정보를� 통제했던� 방식에서,� 오늘

날� 누구나� 정보를� 생산하고� 공유할� 수� 있는� 구조로� 변

화했음을� 설명한다.

� 오답� 분석

①� 역사적� 발전보다는� 정보의� 흐름이� 중앙집권적� 구조에

서� 탈중앙화된� 방식으로� 변화한� 점이� 강조된다.

②� 디지털� 허위� 정보의� 관리보다� 정보의� 민주화가� 중심이

다.

④� 경제적� 영향보다는� 정보� 생산의� 개방성과� 접근성이� 논

의된다.

⑤� 윤리적� 문제보다는� 정보의� 흐름이� 변화한� 점이� 강조된

다.

19)� � 정답:� ③� The� process� of� testing� and� refining�

scientific� theories

� 정답� 분석

근거� 문장:

"It� is� impossible� to� 'prove'� a� theory...� When� the�

results� are� inconsistent,� however,� we� will� either�

have� to� adjust� our� theory,� or� to� reject� it�

altogether."

� 설명:

지문은� 과학� 이론이� 실험을� 통해� 검증되고� 수정되는� 과정

을� 설명한다.

� 오답� 분석

①� 실험적� 검증이� 강조되지만,� 이론의� 수정� 과정이� 핵심이

다.

②� 가설과� 법칙의� 구별보다는� 이론이� 어떻게� 검증되고� 발

전하는지가� 설명된다.

④� 과학적� 방법론의� 역사보다� 이론의� 검증� 및� 수정� 과정

이� 초점이다.

⑤� 철학적� 논쟁이� 아니라� 실증적� 검증� 과정이� 논의된다.

20)� � 정답:� ①� The� role� of� writing� in� enhancing�

scientific� comprehension

� 정답� 분석

근거� 문장:

"Writing� provides� the� opportunity� for� the� kind� of�

intervention� that� can� prevent� conceptual�

misunderstandings� that� can� haunt� a� student� for�

his� entire� academic� career."

� 설명:

지문은� 글쓰기가� 학생들의� 과학적� 이해를� 심화시키고,� 오

개념을� 교정하는� 데� 중요한� 역할을� 한다고� 설명한다.

� 오답� 분석

②� 객관식� 시험과� 서술형� 평가의� 비교가� 아니라� 글쓰기가�

과학� 이해를� 돕는� 역할이� 초점이다.

③� 과학적� 소양이� 아니라� 글쓰기� 자체가� 학습을� 돕는� 도

구로� 강조된다.

④� 과학적� 의사소통의� 역사적� 발전보다는� 글쓰기가� 개별�

학습자에게� 미치는� 영향이� 논의된다.

⑤� 과학� 글쓰기의� 평가� 문제보다는� 글쓰기가� 학습을� 강화

하는� 방법이� 중심이다.

21)� 정답� 분석

� ②� The� Importance� of� Territory� for� Social�

Reproduction

� 근거� 문장:

"The� state� is� in� some� sense� answerable� to� the�

'common� good'� and� thus� to� ensuring� conditions�

supporting� the� reproduction� of� its� human�

subjects."

지문은� 사회적� 재생산과� 생태계� 서비스,� 경제적� 과정에서�
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영토의� 중요성을� 다루므로� The� Importance� of�

Territory� for� Social� Reproduction이� 가장� 적절한� 제

목이다.

오답� 분석

� ①� The� Role� of� Territory� in� Political� Conflicts� →� (지

문은� 영토� 분쟁이� 아니라� 사회� 재생산과의� 관계를� 강

조함)

� ③� How� Ecosystem� Services� Shape� Human�

Settlements� →� (부분적으로� 맞으나,� 주된� 초점은� 영

토의� 기능임)

� ④� The� Evolution� of� Territorial� Boundaries� in� History�

→� (영토� 경계의� 변화가� 아니라� 영토의� 역할이� 주제임)

� ⑤� The� Economic� Value� of� Natural� Resources� in� a�

State� →� (경제적� 가치보다는� 영토의� 사회적·생태적� 기

능이� 주제임)

22)� 정답� 분석

� ①� The� Psychological� Impact� of� Security� Screens� in�

Public� Spaces

� 근거� 문장:

"Some� people� find� such� screens� to� be� so�

impersonal� that� they� provoke� a� suspicious,� even�

aggressive,� response."

지문은� 물리적� 보안� 장치(스크린)가� 사람들에게� 미치는� 심

리적� 영향을� 설명하므로� The� Psychological� Impact�

of� Security� Screens� in� Public� Spaces가� 가장� 적절한�

제목이다.

오답� 분석

� ②� Ensuring� Safety� and� Comfort� in� Public� Services�

→� (안전과� 편안함이� 아니라� 스크린의� 심리적� 영향이�

초점)

� ③� The� Role� of� Security� Measures� in� Modern�

Workplaces� →� (직장이� 아니라� 공공� 서비스� 공간에�

초점)

� ④� How� Physical� Barriers� Shape� Workplace�

Interactions� →� (직장� 내� 상호작용이� 아니라� 공공� 공

간이� 주제)

� ⑤� The� Effectiveness� of� Security� Screens� in�

Preventing� Violence� →� (스크린이� 효과적이라는� 주장

이� 아니라,� 역효과에� 초점)

�
23)� 정답� 분석

� ②� The� Differences� Between� Decoding� and�

Explanation

� 근거� 문장:

"Decoding� substitutes� one� element� with� another� in�

accordance� with� a� rule� that� may� be� individual� to�

the� particular� case.� By� contrast,� similar� cases�

must� be� similarly� explained,� because� explanations�

assume� general,� coherent� rules."

지문은� 디코딩과� 설명의� 차이를� 강조하므로� The�

Differences� Between� Decoding� and� Explanation이�

가장� 적절한� 제목이다.

오답� 분석

� ①� The� Challenges� of� Decoding� Encrypted�

Messages� →� (암호� 해독� 자체가� 아니라� 디코딩과� 설

명의� 차이가� 주제)

� ③� How� Signal� Interpretation� Affects�

Communication� →� (신호� 해석의� 일반적� 영향이� 아니

라� 디코딩의� 원리� 설명이� 초점)

� ④� The� Evolution� of� Decoding� Methods� in� Warfare�

→� (전쟁의� 암호� 해독이� 아니라� 개념적� 차이를� 다룸)

� ⑤� The� Role� of� Codebreaking� in� Modern�

Intelligence� →� (현대� 정보전과� 관련� 없음)

24)� 정답� 분석

� ①� The� Role� of� Carbon� Dioxide� in� Respiratory�

Regulation

� 근거� 문장:

"The� antagonistic� drives� from� oxygen� and� carbon�

dioxide� explain� why� no� change� in� breathing�

occurs� at� altitudes� of� less� than� 3000� metres."

지문은� 이산화탄소가� 어떻게� 호흡을� 조절하는지� 설명하므

로� The� Role� of� Carbon� Dioxide� in� Respiratory�

Regulation이� 가장� 적절한� 제목이다.

오답� 분석

� ②� How� Oxygen� Levels� Influence� Human� Breathing�

→� (산소보다는� 이산화탄소의� 역할에� 초점)

� ③� The� Science� Behind� High-Altitude� Adaptation� →�

(고지대� 적응이� 아니라� 호흡� 조절이� 주제)

� ④� The� Psychological� Effects� of� Holding� One’s�

Breath� →� (심리적� 효과가� 아니라� 생리적� 조절� 메커니

즘이� 주제)

� ⑤� The� Connection� Between� Hyperventilation� and�

Dizziness� →� (과호흡의� 현상이� 아니라� 이산화탄소의�

역할이� 핵심)

25)� 정답� 분석

� ①� The� Power� Dynamics� of� Policy� Implementation

� 근거� 문장:

"Ultimately� those� who� define� policy� exert� power�

over� those� who� follow� policy."

지문은� 정책이� 어떻게� 권력을� 행사하는지를� 설명하므로�

The� Power� Dynamics� of� Policy� Implementation이�

가장� 적절한� 제목이다.

오답� 분석

� ②� How� School� Policies� Reflect� Broader� Political�

Structures� →� (학교� 정책이� 아니라� 정책� 전반의� 권력�

관계가� 주제)

� ③� The� Role� of� Authority� in� Educational�

Decision-Making� →� (교육� 정책이� 아니라� 정책� 전반

이� 초점)

� ④� The� Hidden� Influence� of� Bureaucratic� Rules� in�

Schools� →� (학교의� 관료적� 규칙이� 아니라� 정책의� 힘

이� 주제)

� ⑤� Understanding� the� Impact� of� Policy� on� Social�

Structures� →� (사회� 구조가� 아니라� 정책� 실행의� 권력�

관계가� 주제)

26)� 정답� 분석

� ①� The� Freedom-Control� Paradox� of� Digital�

Technologies

� 근거� 문장:

"But� scooters� do� offer� a� helpful� example� of� the�

paradox� of� digital� technologies:� they� offer�

freedom,� but� only� in� exchange� for� some�

surrender� of� control."
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지문은� 디지털� 기술의� 자유와� 통제� 간의� 모순을� 설명하므

로� The� Freedom-Control� Paradox� of� Digital�

Technologies가� 가장� 적절한� 제목이다.

오답� 분석

� ②� The� Economic� Impact� of� Electric� Scooters� in�

Cities� →� (경제적� 영향이� 아니라� 자유와� 통제의� 관계

가� 주제)

� ③� How� Urban� Transportation� is� Being�

Revolutionized� →� (교통� 혁신이� 아니라� 디지털� 기술

의� 모순이� 주제)

� ④� The� Ethical� Concerns� of� Digital� Tracking� Systems�

→� (윤리적� 문제보다� 자유와� 통제의� 균형이� 초점)

� ⑤� The� Rise� of� Micro-Mobility� in� Modern� Urban�

Planning� →� (소형� 이동수단의� 증가가� 주제가� 아님)

27)� 정답� 분석

� ④� Debunking� the� Linguistic� Big� Bang� Theory

� 근거� 문장:

"It� is� possible,� in� principle,� that� language� suddenly�

appeared� fully� formed� during� human� evolution�

without� any� gradual� or� intermediate� forms.� That�

notion,� a� linguistic� Big� Bang,� has� been�

championed� by� linguists� such� as� Noam� Chomsky.�

But� it� is� extremely� improbable,� biologically�

speaking."

지문은� 언어가� 갑자기� 출현했다는� '언어� 빅뱅'� 이론이� 생

물학적으로� 가능성이� 낮다는� 점을� 논박하는� 내용이므

로� Debunking� the� Linguistic� Big� Bang� Theory가�

가장� 적절한� 제목이다.

오답� 분석

� ①� The� Gradual� Evolution� of� Human� Language� →�

(점진적� 진화� 자체를� 설명하는� 것이� 아니라� '언어� 빅뱅

'을� 반박하는� 것이� 초점)

� ②� Why� Language� Development� Was� Inevitable� →�

(언어� 발달이� 필연적이라는� 논리가� 아니라� '빅뱅� 이론'

의� 타당성� 문제를� 다룸)

� ③� The� Transition� from� Protolanguage� to� Full�

Language� →� (원시� 언어에서� 완전한� 언어로의� 변화보

다는� '언어� 빅뱅'� 이론의� 문제점이� 주제)

� ⑤� The� Biological� Basis� of� Linguistic� Complexity� →�

(언어의� 생물학적� 기초보다� '언어� 빅뱅'� 이론이� 현실적

으로� 불가능함을� 다룸)

28)� 정답� 분석

� ①� The� Democratization� of� Information� in� the�

Digital� Age

� 근거� 문장:

"Today,� the� production� and� distribution� of�

information� is� a� market� in� which� nearly� everyone�

can,� and� does,� participate."

지문은� 디지털� 시대에� 정보� 생성과� 공유가� 대중화되었음

을� 설명하므로� The� Democratization� of� Information�

in� the� Digital� Age가� 가장� 적절한� 제목이다.

오답� 분석

� ②� How� Social� Media� Shapes� Modern� Journalism� →�

(소셜� 미디어와� 저널리즘� 관계가� 아니라� 정보� 생산의�

민주화가� 초점)

� ③� The� Economic� Consequences� of� Information�

Overload� →� (정보� 과부하의� 경제적� 영향이� 아니라� 정

보� 민주화가� 주제)

� ④� The� Rise� of� Fake� News� in� a� Crowdsourced�

World� →� (가짜� 뉴스가� 아니라� 정보� 공유의� 변화가�

초점)

� ⑤� The� Role� of� Algorithms� in� Controlling� Online�

Content� →� (알고리즘의� 역할보다는� 정보� 생산의� 민

주화가� 주제)

29)� 정답� 분석

� ②� The� Limits� of� Certainty� in� Scientific� Theories

� 근거� 문장:

"It� is� impossible� to� 'prove'� a� theory:� as� long� as� we�

find� no� conflicting� evidence,� the� theory� remains�

plausible.� This� does� not� exclude� the� possibility,�

however,� that� there� might� be� future� results� that�

will� conflict."

지문은� 과학� 이론이� 절대적으로� 증명될� 수� 없으며,� 새로운�

증거에� 따라� 변경될� 가능성이� 있다는� 점을� 강조하므로�

The� Limits� of� Certainty� in� Scientific� Theories가� 가

장� 적절한� 제목이다.

오답� 분석

� ①� The� Role� of� Experimentation� in� Scientific�

Validation� →� (실험이� 과학적� 검증에� 미치는� 영향을�

다루는� 것이� 아니라,� 과학� 이론의� 불확실성을� 논의)

� ③� How� Scientific� Models� Evolve� Over� Time� →� (과

학� 모델이� 변화하는� 과정이� 아니라,� 과학� 이론이� 절대

적으로� 확실하지� 않다는� 점이� 핵심)

� ④� The� Relationship� Between� Data� and� Scientific�

Laws� →� (데이터와� 과학� 법칙의� 관계가� 아니라,� 이론

의� 확실성이� 없다는� 점이� 초점)

� ⑤� The� Influence� of� Empirical� Evidence� on�

Hypotheses� →� (경험적� 증거의� 역할이� 아니라,� 과학적�

이론의� 불확실성이� 핵심)

30)� 정답� 분석

� ③� How� Writing� Helps� Identify� and� Correct�

Scientific� Misconceptions

� 근거� 문장:

"Writing� provides� the� opportunity� for� the� kind� of�

intervention� that� can� prevent� conceptual�

misunderstandings� that� can� haunt� a� student� for�

his� entire� academic� career."

지문은� 과학적� 개념에� 대한� 오해를� 방지하고� 수정하는� 데�

글쓰기가� 중요한� 역할을� 한다는� 점을� 설명하므로� How�

Writing� Helps� Identify� and� Correct� Scientific�

Misconceptions가� 가장� 적절한� 제목이다.

오답� 분석

� ①� The� Role� of� Writing� in� Strengthening� Scientific�

Understanding� →� (과학적� 이해를� 강화하는� 역할보다�

오해를� 수정하는� 기능이� 초점)

� ②� Why� Essays� Are� the� Best� Assessment� Tool� in�

Science� Education� →� (서술형� 평가의� 장점이� 아니라,�

글쓰기가� 개념적� 오류를� 수정하는� 과정이� 핵심)

� ④� The� Importance� of� Clear� Expression� in� Scientific�

Learning� →� (명확한� 표현� 자체보다� 개념적� 오류를� 수

정하는� 과정이� 초점)

� ⑤� The� Limitations� of� Multiple-Choice� Tests� in�
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Evaluating� Science� →� (객관식� 시험의� 한계가� 아니

라,� 글쓰기를� 통한� 개념� 오류� 수정이� 주제)

31)� � 정답:� ②� The� physical� space� of� a� territory�

provides� essential� resources� for� societal� survival

� 근거� 문장:� "The� territory� is� therefore� meaningful� in�

containing� natural� resources� which� economic�

processes� can� appropriate."

� 설명:

'저장소'� 역할을� 하는� 영토는� 단순한� 공간이� 아니라� 인간

과� 그들의� 인프라를� 유지하는� 필수적인� 요소이다.

32)� � 정답:� ②� Screens� can� create� unintended�

consequences� by� making� private� conversations�

less� secure

� 근거� 문장:� "It� is� also� possible� that� screens� can� put�

confidentiality� at� risk� if� people� feel� that� they�

have� to� speak� more� loudly� in� order� to� make�

themselves� heard."

� 설명:

보안을� 위한� 장치가� 오히려� 비밀� 유지에� 부정적인� 영향을�

미칠� 수� 있음을� 의미한다.

33)� � 정답:� ②� The� goal� of� decoding� is� to� find� a�

coherent� meaning� in� seemingly� unrelated� signals

� 근거� 문장:� "Decoding� an� enemy's� message� begins�

with� the� belief� that� the� apparently� random�

signals� conceal� a� coherent� meaning."

� 설명:

디코딩� 과정은� 무작위적인� 정보� 속에서� 논리적인� 의미를�

도출하는� 것을� 목표로� 한다.

34)� � 정답:� ②� Removing� excess� carbon� dioxide�

delays� the� urge� to� breathe

� 근거� 문장:� "Hyperventilation� before� holding� your�

breath� blows� off� carbon� dioxide� from� the� body�

and� enables� a� longer� period� to� elapse� before�

carbon� dioxide� builds� up� to� a� level� sufficient� to�

stimulate� breathing."

� 설명:

호흡� 전� 과호흡을� 하면� 이산화탄소� 배출이� 증가하여� 숨을�

참을� 수� 있는� 시간이� 늘어난다.

35)� � 정답:� ②� Policies� create� structured�

decision-making� frameworks� independent� of�

individuals

� 근거� 문장:� "A� group� of� individuals� may� resort� to�

policy� to� guide� their� decision-making� when� there�

is� no� established� authority� figure� to� set� their�

direction."

� 설명:

정책은� 특정� 개인이� 아닌� 체계적인� 의사� 결정� 구조를� 통

해� 권위를� 제공할� 수� 있다.

36)� � 정답:� ①� Digital� technologies� enhance� both�

freedom� and� control� simultaneously

� 근거� 문장:� "They� offer� freedom,� but� only� in�

exchange� for� some� surrender� of� control."

� 설명:

디지털� 기술은� 자유를� 제공하지만� 동시에� 일정� 부분의� 통

제를� 요구하는� 역설적인� 특성을� 지닌다.

37)� � 정답:� ③� The� development� of� speech� involved�

gradual� and� intermediate� adaptations

� 근거� 문장:� "It� is� more� likely� that� language� evolved�

in� several� stages� in� the� same� way,� for� instance,�

as� our� large� brains� did� or� our� tool-making�

ability."

� 설명:

언어는� 갑자기� 생긴� 것이� 아니라,� 여러� 단계를� 거치며� 점

진적으로� 발달했음을� 의미한다.

38)� � 정답:� ②� Content� creation� is� now� accessible� to�

almost� everyone

� 근거� 문장:� "People� today� are� not� simply� passive�

consumers� of� information,� but� also� providers� of�

information� through� their� own� content� creation."

� 설명:

과거에는� 정보� 생산이� 소수의� 권위자에게� 국한되었지만,�

현재는� 누구나� 정보� 생성에� 참여할� 수� 있는� 개방적인�

시장이� 되었다는� 의미다.

39)� � 정답:� ②� Theories� must� be� repeatedly� tested�

and� remain� subject� to� change

� 근거� 문장:� "It� is� impossible� to� 'prove'� a� theory...� a�

single� experiment� yielding� conflicting� results�

would� be� sufficient� to� overthrow� it."

� 설명:

과학� 이론은� 절대적인� 진리가� 아니라� 반복적인� 검증� 과정

을� 거쳐야� 하며,� 새로운� 증거에� 의해� 수정될� 수� 있다

는� 의미이다.

40)� � 정답:� ②� Writing� forces� students� to�

demonstrate� true� understanding

� 근거� 문장:� "A� student� who� does� not� have� a� basic�

understanding� of� scientific� theories� will� have�

immense� difficulty� in� applying� them."

� 설명:

과학적� 글쓰기는� 학생이� 실제� 개념을� 이해하고� 있는지를�

드러내며,� 단순� 암기나� 추측으로는� 답을� 찾을� 수� 없다

는� 의미이다.

41)� ✔ 정답:� ④� impossible� →� possible

42)� ✔ 정답:� ③� discourage� →� provoke
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43)� ✔ 정답:� ④� reliable� →� misleading

44)� ✔ 정답:� ④� � inhibit� →� stimulate

45)� ✔ 정답:� ③� common� →� rare

46)� ✔ 정답:� ④� dependence� →� control

47)� ✔ 정답:� ①� probable� →� improbable

48)� ✔ 정답:� ③� decrease� →� increase

49)� ✔ 정답:� ③� possible� →� impossible

50)� ✔ 정답:� ④� invisible→� visible

51)� � 정답:� ②� repository� for� humans� and� their�

infrastructures

� 근거� 문장:� "Of� key� significance� is� the� fact� that�

territory� offers� the� population� a� legitimate�

physical� 'common� living� space',� that� is,� it�

serves� as� a� 'repository� for� humans� and� their�

infrastructures'"

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 영토가� 인구에게� 정당한� 물리적� '공동� 생활� 공간

'을� 제공하며,� 이는� '인간과� 그들의� 기반� 시설을� 위

한� 저장소'로� 기능한다는� 점을� 설명함.

� 오답� 분석:� ①� political� instrument� for�

exercising� sovereignty� →� 주권� 행사의� 정치적� 도

구라는� 개념은� 본문에서� 강조되지� 않음.� ③� means�

of� establishing� national� identity� →� 국가� 정체성�

확립의� 수단으로서의� 역할은� 언급되지� 않음.� ④�

barrier� against� external� cultural� influences� →�

외부� 문화적� 영향에� 대한� 장벽으로서의� 역할은� 본문

에� 없음.� ⑤� foundation� for� economic�

development� →� 경제� 발전의� 기초라는� 개념은� 본

문의� '저장소'� 개념과� 일치하지� 않음.

52)� � 정답:� ②� provoke� a� suspicious,� even� aggressive,�

response

� 근거� 문장:� "Some� people� find� such� screens� to�

be� so� impersonal� that� they� provoke� a�

suspicious,� even� aggressive,� response."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 일부� 사람들은� 보안� 스크린이� 너무� 비인격적이

어서� 의심스럽고� 심지어� 공격적인� 반응을� 유발한다

고� 느낀다는� 점을� 설명함.

� 오답� 분석:� ①� cause� unnecessary� delays� in�

communication� →� 불필요한� 의사소통� 지연에� 대한�

언급은� 본문에� 없음.� ③� increase� workplace� stress�

and� anxiety� levels� →� 직장� 스트레스와� 불안� 수준�

증가는� 언급되지� 않음.� ④� reduce� the� quality� of�

services� provided� →� 서비스� 품질� 저하는� 본문에서�

강조되지� 않음.� ⑤� discourage� people� from�

seeking� needed� help� →� 필요한� 도움을� 구하는� 것

을� 저해한다는� 내용은� 없음.

53)� � 정답:� ②� the� belief� that� the� apparently� random�

signals� conceal� a� coherent� meaning

� 근거� 문장:� "Decoding� an� enemy's� message�

begins� with� the� belief� that� the� apparently�

random� signals� conceal� a� coherent� meaning."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 적의� 메시지를� 해독하는� 것은� 겉보기에� 무작위

적인� 신호가� 일관된� 의미를� 숨기고� 있다는� 믿음으로

부터� 시작된다는� 점을� 설명함.

� 오답� 분석:� ①� advanced� computational�

techniques� →� 고급� 컴퓨팅� 기술에� 대한� 언급은� 본

문에� 없음.� ③� systematic� analysis� of� language�

patterns� →� 언어� 패턴의� 체계적� 분석은� 본문에서�

강조되지� 않음.� ④� identification� of� recurring�

symbols� →� 반복되는� 기호의� 식별은� 구체적으로� 언

급되지� 않음.� ⑤� thorough� knowledge� of� enemy�

communication� systems� →� 적� 통신� 시스템에� 대

한� 철저한� 지식은� 본문에� 없음.

54)� � 정답:� ①� the� rising� carbon� dioxide�

concentration� in� the� blood

� 근거� 문장:� "The� reason� is� that� breath-holding�

is� terminated� not� by� the� demand� for� oxygen�

but� rather� by� the� rising� carbon� dioxide�

concentration� in� the� blood."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 숨� 참기가� 종료되는� 것은� 산소� 요구가� 아니라�

혈액� 내� 이산화탄소� 농도의� 상승� 때문이라는� 점을�

설명함.

� 오답� 분석:� ②� the� physical� discomfort� of� lung�

compression� →� 폐� 압박의� 신체적� 불편함에� 대한�

언급은� 없음.� ③� neurological� signals� from� the�

respiratory� muscles� →� 호흡� 근육의� 신경학적� 신호
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는� 본문에서� 강조되지� 않음.� ④� depleted� oxygen�

stores� in� lung� tissue� →� 폐� 조직의� 고갈된� 산소�

저장량은� 언급되지� 않음.� ⑤� the� conscious� effort�

to� maintain� breath� control� →� 호흡� 조절을� 유지

하려는� 의식적� 노력에� 대한� 내용은� 없음.

�
55)� � 정답:� ③� the� policy� dictates� it

� 근거� 문장:� "a� leader� could� imply� that� while�

they� don't� really� agree� with� a� particular�

course� of� action,� the� policy� dictates� it� and�

therefore� it� must� be� done."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 리더가� 특정� 행동� 방침에� 동의하지� 않더라도� 정

책이� 그것을� 지시하므로� 수행해야� 한다고� 암시할� 수�

있다는� 점을� 설명함.

� 오답� 분석:� ①� consultation� processes� require�

the� action� →� 협의� 과정의� 요구에� 대한� 언급은� 없

음.� ②� external� regulations� mandate� such�

changes� →� 외부� 규제의� 요구는� 본문에서� 강조되지�

않음.� ④� organizational� goals� demand�

compliance� →� 조직적� 목표의� 요구에� 대한� 언급은�

없음.� ⑤� stakeholder� interests� must� be�

prioritized� →� 이해관계자� 이익의� 우선순위화는� 본

문에� 없음.

56)� � 정답:� ③� you� have� to� wear� school� uniform�

because� that� is� what� the� policy� says

� 근거� 문장:� "it� is� sufficient� to� say� that� you�

have� to� wear� school� uniform� because� that� is�

what� the� policy� says."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 정책이� 그렇게� 말하고� 있기� 때문에� 교복을� 착용

해야� 한다고� 말하는� 것으로� 충분하다는� 점을� 설명

함.

� 오답� 분석:� ①� all� schools� have� similar� uniform�

requirements� →� 모든� 학교가� 유사한� 교복� 요구사

항을� 가진다는� 내용은� 없음.� ②� uniform� violations�

result� in� disciplinary� action� →� 교복� 위반이� 징계�

조치로� 이어진다는� 내용은� 강조되지� 않음.� ④�

parental� consent� is� required� for� uniform�

exceptions� →� 교복� 예외에� 대한� 부모� 동의� 요구는�

언급되지� 않음.� ⑤� uniform� standards� promote�

equality� among� students� →� 교복� 기준이� 학생� 간�

평등을� 촉진한다는� 내용은� 없음.

57)� � 정답:� ①� they� offer� freedom,� but� only� in�

exchange� for� some� surrender� of� control

� 근거� 문장:� "But� scooters� do� offer� a� helpful�

example� of� the� paradox� of� digital�

technologies:� they� offer� freedom,� but� only� in�

exchange� for� some� surrender� of� control."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 디지털� 기술의� 역설을� 보여주는� 예시로서� 스쿠

터는� 자유를� 제공하지만� 일부� 통제권을� 포기하는� 대

가로만� 그렇다는� 점을� 설명함.

� 오답� 분석:� ②� they� simplify� daily� life� while�

creating� new� complications� →� 일상� 생활� 단순화

와� 새로운� 복잡성� 창출에� 대한� 언급은� 없음.� ③�

they� promote� sustainability� while� increasing�

urban� congestion� →� 지속가능성� 촉진과� 도시� 혼

잡� 증가는� 본문에서� 강조되지� 않음.� ④� they�

connect� people� digitally� while� isolating� them�

physically� →� 디지털� 연결과� 물리적� 고립에� 대한� 내

용은� 없음.� ⑤� they� provide� convenience� at� the�

expense� of� personal� privacy� →� 개인� 정보� 희생에�

대한� 구체적� 언급은� 없음.

58)� � 정답:� ①� linguistic� precursors

� 근거� 문장:� "At� some� point� there� must� have�

been� linguistic� precursors,� simpler� forms� of�

language."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 어느� 시점에서는� 언어적� 전조,� 즉� 더� 단순한� 형

태의� 언어가� 있었을� 것이라는� 점을� 설명함.

� 오답� 분석:� ②� ritualized� communication�

systems� →� 의례화된� 의사소통� 체계에� 대한� 언급은�

없음.� ③� primitive� writing� systems� →� 원시적� 쓰

기� 체계는� 본문에서� 강조되지� 않음.� ④� gestural�

communication� methods� →� 몸짓� 의사소통� 방법

에� 대한� 구체적� 언급은� 없음.� ⑤� species-specific�

vocal� adaptations� →� 종� 특이적� 발성� 적응에� 대한�

내용은� 없음.

59)� � 정답:� ①� information� can� be� created� by� anyone�

and� can� flow� from� anyone� to� everyone� else

� 근거� 문장:� "Today� however,� advances� in�

information� technology� —� specifically,�

computers� and� telecommunicators� —� have�

resulted� in� a� situation� where� information� can�

be� created� by� anyone� and� can� flow� from�

anyone� to� everyone� else."
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� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 오늘날� 정보� 기술의� 발전으로� 정보가� 누구든지�

만들� 수� 있고� 누구에게서든� 모든� 사람에게� 흐를� 수�

있는� 상황이� 되었다는� 점을� 설명함.

� 오답� 분석:� ②� social� media� platforms� dominate�

information� distribution� channels� →� 소셜� 미디어�

플랫폼� 지배에� 대한� 구체적� 언급은� 없음.� ③�

traditional� media� outlets� face� unprecedented�

competition� →� 전통� 미디어의� 경쟁� 직면은� 본문의�

핵심이� 아님.� ④� online� surveillance� has� become�

increasingly� sophisticated� →� 온라인� 감시의� 정교

화는� 언급되지� 않음.� ⑤� visual� content� has�

replaced� text� as� the� primary� medium� →� 시각적�

콘텐츠의� 텍스트� 대체는� 본문에� 없음.

60)� � 정답:� ①� as� long� as� we� find� no� conflicting�

evidence,� the� theory� remains� plausible

� 근거� 문장:� "It� is� impossible� to� "prove"� a�

theory:� as� long� as� we� find� no� conflicting�

evidence,� the� theory� remains� plausible."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 이론을� "증명"하는� 것은� 불가능하며,� 모순되는�

증거를� 발견하지� 않는� 한� 이론은� 그럴듯하게� 남는다

는� 점을� 설명함.

� 오답� 분석:� ②� repeated� experiments� must� yield�

identical� results� →� 반복� 실험의� 동일� 결과� 요구는�

언급되지� 않음.� ③� scientific� consensus� must� be�

achieved� through� peer� review� →� 동료� 평가를�

통한� 과학적� 합의� 달성은� 본문에� 없음.� ④�

mathematical� models� must� support� theoretical�

predictions� →� 수학적� 모델의� 이론적� 예측� 지원은�

강조되지� 않음.� ⑤� multiple� alternative�

explanations� must� be� ruled� out� →� 다양한� 대안

적� 설명� 배제� 필요성은� 본문에� 없음.

61)� � 정답:� ②� no� way� to� "luck� out"� on� a� guess� at�

the� correct� answer

� 근거� 문장:� "In� responding� to� an� authentic�

scientific� problem� through� an� essay,� there� is�

no� way� to� "luck� out"� on� a� guess� at� the�

correct� answer;� there� is� no� place� to� hide."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 에세이를� 통해� 진정한� 과학적� 문제에� 대응할� 때�

정답을� 추측하여� "운� 좋게� 맞출"� 방법이� 없다는� 점

을� 설명함.

� 오답� 분석:� ①� no� standard� format� to� follow� →�

따를� 표준� 형식이� 없다는� 내용은� 언급되지� 않음.� ③�

little� opportunity� for� creative� thinking� →� 창의적�

사고의� 기회� 제한은� 본문의� 요지가� 아님.� ④�

minimal� need� for� mathematical� calculations� →�

수학적� 계산� 필요의� 최소화는� 언급되지� 않음.� ⑤�

less� emphasis� on� theoretical� knowledge� →� 이

론적� 지식에� 대한� 강조� 감소는� 본문과� 반대됨.

62)� � 정답:� ②� un-learn� a� misconception

� 근거� 문장:� "Indeed,� Heddy� &� Sinatra� (2013)�

and� Francek� (2013)� have� found� that� one� of�

the� most� difficult� areas� of� teaching� is� trying�

to� get� students� to� un-learn� a� misconception."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� Heddy� &� Sinatra(2013)와� Francek(2013)이�

교육의� 가장� 어려운� 영역� 중� 하나는� 학생들이� 오개

념을� "배움을� 해제"하도록� 하는� 것이라고� 밝혔다는�

점을� 설명함.

� 오답� 분석:� ①� express� their� ideas� clearly� and�

concisely� →� 아이디어의� 명확하고� 간결한� 표현은�

본문에서� 강조되지� 않음.� ③� develop� independent�

research� skills� →� 독립적� 연구� 기술� 개발은� 언급되

지� 않음.� ④� connect� theoretical� concepts� to�

practical� applications� →� 이론적� 개념과� 실질적� 응

용의� 연결은� 본문의� 핵심이� 아님.� ⑤� engage� with�

complex� scientific� literature� →� 복잡한� 과학� 문헌�

참여에� 대한� 언급은� 없음.

63)� 정답:� ⑤� (C)� -� (B)� -� (A)

정답� 선택지� 분석

C� →� B

C에서� "repository� function"을� 언급하며� 영토가� 제공하

는� 생태계� 서비스(공기,� 물)를� 설명함.

B에서� 이를� 넘어� 국가가� 공공의� 이익을� 책임져야� 한다고�

강조하며� 논리를� 확장함.

B� →� A

B에서� "ensuring� conditions� supporting� the�

reproduction� of� its� human� subjects"라고� 하며� 경제

적� 기능이� 필요하다고� 암시함.

A에서� 이러한� 필요성을� 구체화하며� 영토가� 자연� 자원과�

경제적� 이용� 가치가� 있다고� 설명함.

� 핵심� 요약

C:� 영토는� 인간이� 이용하는� 기본� 자원(공기,� 물)을� 제공

함.

B:� 국가는� 이런� 자원을� 관리하여� 인간의� 생존을� 보장해야�

함.

A:� 영토는� 경제적� 활용� 및� 폐기물� 처리� 기능도� 가짐.

64)� 정답:� ①� (A)� -� (C)� -� (B)

정답� 선택지� 분석

A� →� C
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A에서� 보안� 스크린이� 비효율적이며� 부정적인� 반응을� 유발

할� 수� 있음을� 설명함.

C에서� 이러한� 부정적인� 환경을� 개선하려면� 개방적이고� 인

간적인� 분위기가� 필요하다고� 언급함.

C� →� B

C에서� "human� environment"를� 강조하며� 긍정적인� 환경�

조성의� 필요성을� 설명함.

B에서� 구체적으로� GP� 병원에서� 스크린이� 비효율적임을�

설명하며� 논리를� 보강함.

� 핵심� 요약

A:� 보안� 스크린은� 부작용이� 있을� 수� 있음.

C:� 개방적이고� 인간적인� 환경이� 더� 효과적일� 수� 있음.

B:� 실제로� GP� 병원� 사례에서도� 스크린이� 문제를� 일으킴.

65)� � 정답:� ②� (B)� -� (A)� -� (C)

정답� 선택지� 분석

B� →� A

B에서� "nonverbal� objects"도� 신호로� 볼� 수� 있음을� 설명

함.

A에서� 이런� 신호가� 특정� 규칙(코드)에� 따라� 해석된다는�

점을� 강조함.

A� →� C

A에서� "decoding� substitutes� one� element� with�

another"라고� 하여� 코드� 변환의� 불확실성을� 언급함.

C에서� 이를� 강조하며� 단순� 유사성을� 기반으로� 해석하는�

것이� 위험할� 수� 있음을� 설명함.

� 핵심� 요약

B:� 비언어적� 신호도� 해석될� 수� 있음.

A:� 해석은� 특정� 규칙을� 따른다.

C:� 하지만� 단순� 유사성에� 의존하면� 오해할� 수� 있음.

66)� 정답:� ①� (A)� -� (C)� -� (B)

정답� 선택지� 분석

A� →� C

A에서� 실험을� 소개하며� "hyperventilation"이� 숨� 참는� 시

간을� 연장할� 수� 있음을� 언급함.

C에서� 이� 원리를� 설명하며� CO2의� 역할을� 강조함.

C� →� B

C에서� CO2� 농도가� 특정� 임계점에� 도달하면� 숨을� 쉬게�

된다고� 설명함.

B에서� "oxygen� and� carbon� dioxide� explain� why� no�

change� in� breathing� occurs"라고� 하며� 고도와� 관련

한� 숨쉬기� 조절을� 설명함.

� 핵심� 요약

A:� CO2� 농도가� 숨쉬기� 조절에� 영향을� 미침.

C:� CO2� 농도가� 증가하면� 호흡이� 유발됨.

B:� 고도� 변화� 시� 이러한� 원리가� 적용됨.

67)� � 정답:� ⑤� (C)� -� (B)� -� (A)

정답� 선택지� 분석

C� →� B

C에서� 정책이� 권위를� 제공할� 수� 있다고� 설명함.

B에서� 이러한� 권위가� 정치적� 계층을� 형성하는� 원인이� 됨

을� 설명함.

B� →� A

B에서� 정책이� 학교에서� 어떻게� 권위로� 작용하는지를� 설명

함.

A에서� 학생들이� 이� 권위에� 대응할� 방법이� 없음을� 예시로�

제시함.

� 핵심� 요약

C:� 정책이� 권위의� 역할을� 함.

B:� 정책이� 계층화를� 초래함.

A:� 학생들은� 정책에� 맞서기� 어려움.

68)� � 정답:� ②� (B)� -� (A)� -� (C)

정답� 선택지� 분석

B� →� A

B에서� 전동� 스쿠터가� 자유로운� 이동을� 제공하지만� 통제된�

환경임을� 설명함.

A에서� 이런� 통제� 요소(속도� 제한,� 지정� 구역� 제한� 등)를�

구체적으로� 제시함.

A� →� C

A에서� 스쿠터의� 제한적� 특성을� 설명한� 후,� C에서� 이것이�

디지털� 기술의� 자유와� 통제의� 역설과� 관련됨을� 강조함.

� 핵심� 요약

B:� 스쿠터는� 자유롭지만� 통제됨.

A:� 이� 통제는� 다양한� 방식으로� 작용함.

C:� 이는� 디지털� 기술이� 가진� 자유와� 통제의� 역설과� 관련

됨.

�
69)� 정답:� ⑤� (C)� -� (B)� -� (A)

정답� 선택지� 분석

C� →� B

C에서� 언어가� 점진적으로� 진화했을� 가능성을� 설명함.

B에서� 이� 과정이� 어린이의� 언어� 습득과� 유사할� 수도� 있다

고� 설명함.

B� →� A

B에서� 점진적� 언어� 발전� 가능성을� 설명함.

A에서� 원시적� 형태(linguistic� precursors)가� 존재했어야�

했음을� 강조함.

� 핵심� 요약

C:� 언어는� 점진적으로� 진화했을� 가능성이� 큼.

B:� 이� 과정은� 어린이� 언어� 습득과� 유사할� 수� 있음.

A:� 원시적� 형태의� 언어가� 존재했어야� 함.

70)� 정답:� ⑤� (C)� -� (B)� -� (A)

정답� 선택지� 분석

C� →� B

C에서� 디지털� 시대에� 정보� 생산이� 누구에게나� 가능해졌음

을� 강조함.

B에서� 소비자들이� 직접� 콘텐츠를� 생산하는� 사례

(YouTube� 등)를� 제시함.

B� →� A

B에서� 소비자� 콘텐츠� 제작� 증가를� 설명함.

A에서� 이는� 시장� 전체가� 참여하는� 형태로� 변화했음을� 강

조함.

� 핵심� 요약

C:� 정보� 생산이� 대중화됨.

B:� 소비자가� 직접� 콘텐츠를� 생산함.

A:� 정보� 시장이� 개방적으로� 변함.
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71)� 정답:� ⑤� (C)� -� (B)� -� (A)

정답� 선택지� 분석

C� →� B

C에서� 과학� 이론이� 실험을� 통해� 검증되는� 방식에� 대해� 설

명함.

B에서� 이러한� 검증� 방식이� 절대적인� 증명이� 불가능하다는�

점을� 강조함.

B� →� A

B에서� 이론이� 반박될� 가능성이� 항상� 존재함을� 설명함.

A에서� 한� 번의� 실험으로도� 이론이� 무너질� 수� 있음을� 강조

함.

� 핵심� 요약

C:� 과학� 이론은� 실험을� 통해� 검증됨.

B:� 하지만� 절대적� 증명은� 불가능함.

A:� 단� 하나의� 실험으로도� 이론이� 반박될� 수� 있음.

72)� 정답:� ③� (B)� -� (C)� -� (A)

정답� 선택지� 분석

B� →� C

B에서� 과학� 글쓰기의� 중요성을� 설명함.

C에서� 글쓰기가� 학생� 이해도를� 높이는� 도구임을� 강조함.

C� →� A

C에서� 교사가� 학생의� 이해도를� 평가할� 수� 있다고� 설명함.

A에서� 이러한� 과정이� 학생의� 오해를� 바로잡는� 데� 도움을�

준다고� 설명함.

� 핵심� 요약

B:� 과학� 글쓰기는� 학생의� 이해도를� 평가하는� 데� 도움됨.

C:� 교사는� 글쓰기를� 통해� 학생의� 오해를� 파악할� 수� 있음.

A:� 이를� 통해� 학생들의� 개념적� 오해를� 수정할� 수� 있음.

73)� 정답:� ④

앞� 문장� (③)

Of� key� significance� is� the� fact� that� territory� offers�

the� population� a� legitimate� physical� 'common�

living� space',� that� is,� it� serves� as� a� 'repository�

for� humans� and� their� infrastructures'.

→� 영토가� 인간과� 그들의� 인프라를� 위한� 공간임을� 설명.

삽입� 문장

This� 'repository� function'� provides� the� opportunity�

to� participate� in� the� consumption� of� the�

so-called� 'free� goods',� the� ecosystem� services�

within� the� territory� (for� example,� clean� air� and�

water).

→� ‘repository� function’이� 환경적� 이점을� 제공한다는� 개

념� 확장.

뒷� 문장� (⑤)

In� most� cases,� however,� it� means� more� than� this.

→� 삽입� 문장에서� 언급한� 개념을� 확장하여,� 영토가� 단순한�

생활� 공간� 이상의� 역할을� 한다는� 점을� 강조.

74)� 정답:� ②

앞� 문장� (①)

There� are� some� situations� where� physical� barriers�

are� both� sensible� and� necessary� for� the�

protection� of� the� worker.

→� 보호� 장치(스크린)의� 필요성을� 설명.

삽입� 문장

But� many� reception� areas� for� public� services� have,�

from� time� to� time,� employed� security� screens� in�

the� hope� of� discouraging� violence� or� abusive�

behaviour� and� for� the� protection� of� staff.

→� 공공� 서비스� 영역에서도� 보호� 장치가� 사용됨을� 설명.

뒷� 문장� (③)

These� have� not� always� worked,� however,� and� have�

sometimes� given� the� message� that� violent�

behaviour� is� being� expected.

→� 삽입� 문장에서� 언급된� 보호� 장치의� 단점으로� 연결.

75)� 정답:� ⑦

앞� 문장� (⑥)

The� decoder� cannot� rely� on� seemingly� similar� cases�

to� provide� the� right� code� —� the� apparent�

similarity� may� be� misleading.

→� 암호� 해독에서� 비슷해� 보이는� 사례가� 오히려� 오해를�

유발할� 수� 있음을� 설명.

삽입� 문장

By� contrast,� similar� cases� must� be� similarly�

explained,� because� explanations� assume� general,�

coherent� rules� common� to� all� relevant� cases.

→� 삽입� 문장을� 통해� 해독과� 설명의� 차이를� 강조하며� 논

리를� 확장.

76)� 정답:� ④

앞� 문장� (③)

(Do� not� do� this� for� more� than� a� minute� or� you�

may� become� dizzy.)

→� 숨� 참기� 실험과� 관련된� 경고� 문구.

삽입� 문장

The� reason� is� that� breath-holding� is� terminated� not�

by� the� demand� for� oxygen� but� rather� by� the�

rising� carbon� dioxide� concentration� in� the� blood.

→� 삽입� 문장을� 통해� 왜� 숨� 참기가� 제한되는지를� 설명.

뒷� 문장� (⑤)

Hyperventilation� before� holding� your� breath� blows�

off� carbon� dioxide� from� the� body� and� enables� a�

longer� period� to� elapse� before� carbon� dioxide�

builds� up� to� a� level� sufficient� to� stimulate�

breathing.

→� 삽입� 문장의� 개념을� 구체적인� 생리학적� 과정으로� 연결.

77)� 정답:� ④

앞� 문장� (③)

Ultimately,� those� who� define� policy� exert� power�

over� those� who� follow� policy� and,� in� education�

at� least,� it� is� rare� that� policy� is� determined�

collectively:� at� best,� leaders� are� elected�

democratically� so� that� they� may� set� policy� for�

the� electorate.

→� 정책을� 정의하는� 사람들이� 권력을� 행사함을� 설명.

삽입� 문장

There� is� therefore� an� inevitable� reliance� on� a�

political� elite,� and� a� consequent� hierarchy� of�

power.
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→� 정책이� 권력의� 계층� 구조를� 형성하는� 방식� 설명.

뒷� 문장� (⑤)

A� frequently� seen� example� of� policy� as� power� in�

schools� is� uniform.

→� 학교에서� 정책이� 권력으로� 작용하는� 사례로� 연결.

78)� � 정답:� ⑪

앞� 문장� (⑩)

But� scooters� do� offer� a� helpful� example� of� the�

paradox� of� digital� technologies:� they� offer�

freedom,� but� only� in� exchange� for� some�

surrender� of� control.

→� 디지털� 기술이� 자유를� 제공하면서도� 통제를� 요구하는�

역설을� 설명.

삽입� 문장

This� is� not� a� paradox� that� will� ever� be� fully�

resolved.

→� 이러한� 역설이� 해결되지� 않을� 것임을� 강조.

뒷� 문장� 없음

→� 삽입� 문장이� 결론� 역할을� 하며,� 주제를� 정리.

79)� 정답:� ④

앞� 문장� (③)

It� is� more� likely� that� language� evolved� in� several�

stages� in� the� same� way,� for� instance,� as� our�

large� brains� did� or� our� tool-making� ability.

→� 언어가� 점진적으로� 진화했을� 가능성을� 설명.

삽입� 문장

This� may� have� been� a� process� similar� to� the� one�

children� go� through,� or� the� process� may� have�

been� entirely� different� and� involved� intermediate�

forms.

→� 언어� 진화� 과정이� 어린이의� 언어� 습득과� 유사할� 수도,�

아닐� 수도� 있음을� 제시.

뒷� 문장� (⑤)

At� some� point� there� must� have� been� linguistic�

precursors,� simpler� forms� of� language.

→� 삽입� 문장에서� 언급된� 중간� 형태의� 언어� 개념을� 구체

적으로� 설명.

80)� � 정답:� ④

앞� 문장� (③)

More� specific� to� consumer-created� content,� 400�

hours� of� videos� are� uploaded� to� YouTube� every�

minute� and� searches� of� "how� to"� videos� on�

YouTube� are� growing� 70%� year� over� year.

→� 사용자가� 생성하는� 콘텐츠의� 증가� 추세를� 설명.

삽입� 문장

These� numbers� will� likely� increase� by� the� time� this�

manuscript� goes� to� print.

→� 통계� 수치가� 계속� 증가할� 가능성을� 강조.

뒷� 문장� (⑤)

People� today� are� not� simply� passive� consumers� of�

information,� but� also� providers� of� information�

through� their� own� content� creation,� which� is�

"the� material� people� contribute� to� the� online�

world".

→� 삽입� 문장에서� 언급한� 콘텐츠� 증가가� 사용자� 생성� 콘

텐츠로� 연결됨.

81)� 정답:� ⑥

앞� 문장� (⑤)

Now,� we� can� design� an� experiment� that� aims� to�

disprove� our� theory:� when� the� results� of� our�

experiment� are� consistent� with� the� theory,� we�

have� no� reason� to� suspect� that� anything� is�

wrong� with� it.

→� 실험� 결과가� 이론과� 일치할� 경우� 문제가� 없음을� 설명.

삽입� 문장

When� the� results� are� inconsistent,� however,� we� will�

either� have� to� adjust� our� theory,� or� to� reject� it�

altogether.

→� 실험� 결과가� 일치하지� 않을� 경우,� 이론을� 수정하거나�

폐기해야� 함을� 설명.

뒷� 문장� (⑦)

It� is� impossible� to� "prove"� a� theory:� as� long� as� we�

find� no� conflicting� evidence,� the� theory� remains�

plausible.

→� 삽입� 문장에서� 언급한� 이론� 검증의� 어려움을� 확장.

82)� 정답:� ④

앞� 문장� (③)

In� general,� essays� that� require� students� to� invoke�

pertinent� scientific� principles� and� theories� and� to�

explore� potential� applications� are� more� genuine�

assessments� of� student� knowledge� than� objective�

tests� of� short� queries� paired� with� possible�

answers� already� furnished.

→� 과학적� 원리를� 적용하는� 에세이가� 학생의� 이해도를� 평

가하는� 데� 더� 적절함을� 설명.

삽입� 문장

Another� advantage� of� writing� essays� is� that� the�

teacher� can� get� a� sense� of� where� student�

comprehension� is� strong� and� where�

understanding� begins� to� break� down.

→� 에세이를� 통한� 학생의� 이해도� 평가� 장점을� 설명.

뒷� 문장� (⑤)

After� all,� writing� is� a� form� of� concretized� thought.

→� 삽입� 문장에서� 언급한� 사고� 과정을� 더� 구체화.

83)� 정답:� ②� reproduction� /� preservation

84)� 정답:� ②� escalate� /� heighten

85)� 정답:� ②� case-specific� /� universal

86)� 정답:� ②� carbon� dioxide� /� oxygen
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87)� 정답:� ②� practical� /� hierarchical

88)� 정답:� ①� illusion� /� balance

89)� 정답:� ①� gradual� /� intermediate

90)� 정답:� ①� centralized� /� widespread

91)� 정답:� ②� tentative� /� refuted

92)� 정답:� ①� critical� /� misconceptions

93)� 정답:� ①� removed� /� participate� /� answerable

94)� 정답:� ①� made� /� employed� /� expected

95)� 정답:� ①� regards� /� viewed� /� covered

96)� 정답:� ①� inhibited� /� terminated� /� holding

97)� 정답:� ①� chosen� /� guide� /� determined

98)� 정답:� ①� seen� /� discovered� /� says

99)� 정답:� ①� Riding� /� tracked� /� depending

100)� 정답:� ①� appeared� /� popped� /� involved

101)� 정답:� ①� remained� /� astounding� /� uploaded

102)� 정답:� ①� based� /� observed� /� reject

103)� 정답:� ①� emanate� /� applying� /� paire

104)� 정답:� ①� concretized� /� made� /� found

105)� � This� 'repository� function'� provides� the�

opportunity� to� participate� in� the� consumption� of�

the� so-called� 'free� goods',� the� ecosystem� services�

within� the� territory.

106)� � But� many� reception� areas� for� public� services�

have,� from� time� to� time,� employed� security�

screens� in� the� hope� of� discouraging� violence� or�

abusive� behaviour� and� for� the� protection� of�

staff.

107)� Decoding� is� a� verbal� activity� that� regards� its�

object� as� a� set� of� signals;� each� signal� carries� a�

specific� meaning� determined� by� a� code.

108)� You� will� find� you� are� able� to� hold� your�

breath� for� longer� if� you� breathe� very� rapidly� for�

a� short� time� beforehand.

109)� Policy� can� be� used� to� highlight� power�

relationships,� but� it� can� also� allow� for�

depersonalisation� of� power� and� decision-making:�

a� leader� could� imply� that� while� they� don't� really�

agree� with� a� particular� course� of� action,� the�

policy� dictates� it� and� therefore� it� must� be� done.

110)� A� frequently� seen� example� of� policy� as� power�

in� schools� is� uniform.

111)� Riding� them� is� a� carefree� experience� —� but� it�

is� more� controlled� than� it� might� seem.

112)� � It� is� more� likely� that� language� evolved� in�

several� stages� in� the� same� way,� for� instance,� as�

our� large� brains� did� or� our� tool-making� ability.

113)� � People� today� are� not� simply� passive�

consumers� of� information,� but� also� providers� of�

information� through� their� own� content� creation.

114)� � It� is� impossible� to� "prove"� a� theory:� as� long�

as� we� find� no� conflicting� evidence,� the� theory�

remains� plausible.

115)� � One� of� the� truths� about� writing� in� science� is�

that� it� substantially� limits� the� amount� of�

insincere� blather� that� can� emanate� from� the�

mind� of� a� student� when� he/she� has� absolutely�

no� idea� about� a� correct� response.


